201 QEF FEHARFY 7 /R TFA7dIN I 7— R E T IE DX R s B

BITZANELEHRIFT. 2BEOFIE. XvFU I RAT7H—FAXICEYZERFERTE

BifER 9H24H (). 25H (K)
BfEa—R |DVRILUXBEEEIIILZEEER (BHE) ~ 5731Yards Par72
SHAXEHEE[8%
N . o 1B H 2B H
[[=tiva K4 FEHIFI—X 50T = S5UT = TOTAL
1 Flll BHEF FEEARY - 36 39 40 40 155
=18 R WFFHEM L E 41 36 37 41 155
JL— 71-703‘&.% FIHAEFEFHER
I 3 [ Xl 2F | WF&&aE®E | 36 | 39 42 | 41 158
XLLE, 3RERE
4 KU EF WFZt B& 39 40 40 41 160
5T | A=E hEE AN 41 40 40 162
XL E, S%EE'EF‘“ZFRRB'ZI- —K
5T 2l =F WFE&H EH 41 39 40 42 162
7T ANHE B hEE AN 43 42 41 37 163
7T FH TEMF Ty 40 41 42 40 163
XL E.8ZAEBAIZER
T FE XRF NI VNE] 38 39 41 45 163
10 xR IEF NI VNE] 41 39 43 41 164
1T I+ BE=E IEERF 42 42 41 40 165
1T 2 BF T 41 42 42 40 165
1T JIIA HDF WEHZRMH L E 41 41 43 40 165
14 AH BAE Ty 39 45 39 44 167
15T FiE THEF W= 43 43 42 40 168
15T $H 5EX WF& & B& 42 40 41 45 168
17T ¥l &S IFERSF 42 42 42 43 169
17T Hh 8+ T 41 42 40 46 169
19T JIIA F4 INES 42 46 42 40 170
19T FiE BF WFZRM L E 40 41 49 40 170
21 fRE EF T 41 43 43 44 171
22 FEiE IEF P =N 41 41 44 46 172
23T Rl EF WFEHEH 45 42 42 44 173
23T AR #ME P =N 44 41 44 44 173
23T A LW H 7)Y 41 40 48 44 173
26 FH #th&F WFEHEH 45 43 43 44 175
27T FA HF IERRZF 44 44 43 45 176
27T = FEEHARY - 43 45 41 47 176
29 WH BEF WFZRM L E 47 43 42 45 177
30T 52 Ex INES 42 42 47 47 178
30T EZH fAF T 41 43 47 47 178
32T Ll GEF WFE G EH 43 45 46 45 179
32T a8 _ERF IFEREF 45 42 41 51 179
34 X _EF WF &t B 43 45 46 48 182
35 BRIl BF WFE G EH 48 44 47 46 185
36 EIAR BEE AT EILE 47 50 47 52 196
ZiE =i #F IFERF 40 43 - —
XEHE hogk ERF WF &t B 41 46 - -

KEEFRI—FETDFEIE

1/2R=




20194 E FEHHALXFL_7F7IFaT7INI7—REFEBMRRBEZERBE)

B H 9H248 (k)
BiEO—X [DyRILUOXEZHEEIDIILJERE(ZHE) ~ 5731Yards Par72
1HE 5% |384
JIIE 432 K4 FEHIZI—X ouT IN GROSS
1T K EF WFEZHEE 36 39 75
1T Flll HEF hEEAY-N 36 39 75
3T FE XRF WY NE| 38 39 77
3T =418 R WY NE| 41 36 77
5 KU EF WFZ2 o B# 39 40 79
6T )l EF WFZ o B# 41 39 80
6T x* IBF WY INE| 41 39 80
8T FH TEMF 7YY 40 41 81
8T hiE BF WFHEM L E 40 41 81
8T HE WIFH 7Y 41 40 81
1T | A=E hE R AV} 41 41 82
1T FEiE IEF = AN 41 41 82
1T JIIK HOF WY NE| 41 41 82
1T $H 5X WFEHEE 42 40 82
15T Hh 8+ T 41 42 83
15T =i #F IEER=F 40 43 83
15T 2 BF T 41 42 83
18T il &S IFRRF 42 42 84
18T RE Ex INEZ 42 42 84
18T & E=E IEER=F 42 42 84
18T AH BAE T 39 45 84
18T EZH f5F T 41 43 84
18T fRE EF T 41 43 84
24T /AR BxX A= AN 44 41 85
24T RNHE B BhEEARY - 43 42 85
26 FiE THEF WF& o B&E 43 43 86
27T SEE= WFEHEE 45 42 87
27T Mgk EXKF WFEHEH 41 46 87
27T A EBF IERR3F 45 42 87
30T JIIE T N 42 46 88
30T Al GEF WFEHEE 43 45 88
30T FH #hZF WF& o B&E 45 43 88
30T =F BE BhEEAY - 43 45 88
30T FA HF IERR3F 44 44 88
30T BAR _EF WF& o B&E 43 45 88
36 WH BEF VN 47 43 90
37 BRIl BF WFE G EE 48 44 92
38 EIAR BEE = AN 47 50 97

2/2R—=2



